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New Updated 400-151 Exam Questions from PassL eader 400-151 PDF dumps! Welcome to download the newest PassL eader
400-151 VCE dumps: https://www.pass eader.com/400-151.html (144 Q& As~2019 Version) Keywords: 400-151 exam dumps,
400-151 exam questions, 400-151 V CE dumps, 400-151 PDF dumps, 400-151 practice tests, 400-151 study guide, 400-151
braindumps, CCIE Data Center Written Exam, v2.1 P.S. New CCIE Data Center 400-151 dumps PDF:;
https://drive.google.com/open?id=0B-0b6L_QjGL pVmol1Q01pZEhTUGS8 >> New CCIE Routing and Switching 400-101 dumps
PDF:
https://drive.google.com/open?id=0B-ob6L_QjGL pfnRCUEFY cEhWZUw30GNQY 2FUSkptUXBrZDV zeE8zdkJQUERtOUFIND
BFQWS8 >> New CCIE Service Provider 400-201 dumps PDF:
https://drive.google.com/open?id=0B-ob6L_QjGL pVKYtTGdtRWFodXM >> New CCIE Collaboration 400-051 dumps PDF:
https://drive.google.com/open?id=0B-ob6L _QjGL pNnliRG0O4bGIGbEK >> New CCIE Wireless 400-351 dumps PDF:
https://drive.google.com/open?id=0B-ob6L _QjGL pWTFGcGFzZNOJUYKE >> New CCIE Security 400-251 dumps PDF:
https://drive.google.com/open?id=0B-ob6L _QjGL pd3JL aNV SOVWbms NEW QUESTION 1While using HSRP, if you see the
active state of the devices constantly changing, which parameter may need to be adjusted? A. delayB. holdtimeC. priorityD.
standby group Answer: B NEW QUESTION 2Which two prerequisites for BFD are true? (Choose two.) A.  For Layer 3 port
channels used by BFD, you must enable LACP on the port channel .B.  Install NETWORK_SERVICE_PKG license.C. Disable
the I P packet verification check for identical 1P source and destination addresses.D.  Enabled ICMP redirect messages on
BFD-enabled interfaces.E.  For Layer 2 port channels used by BFD, you must disable LACP on the port channel. Answer: AC
NEW QUESTION 3Which option is required by atomic counters to be leveraged in troubleshooting endpoint connectivity? A.
Endpoints must connect to the same leaf switch.B.  Endpoints must be in different bridge domains.C.  Endpoints must bein
different endpoint groups.D. Endpoints must bein different VRFs.E. Endpoint must connect to different leaf switches. Answer:
E NEW QUESTION 4For which two multicast distribution modesis RP configuration required? (Choose two.) A. ASMB.
BIDIRC. UDIRD. SSME. RPF routesfor multicast Answer: AB NEW QUESTION 5If the FCoE negotiation fails, what can
you configure the switch to do on that interface? A.  force-enable FCOEB. reset-enable FCoEC. active-enable FCOED.
passive-enable FCoE Answer: A NEW QUESTION 6Which docker orchestration tool replaced fig? A.  Docker SwarmB. Docker
ListC. Docker HubD. Docker ComposeE. Docker Link Answer: D NEW QUESTION 7Which two options are different ways
to extend the Layer 2 domain beyond the ACI fabric? (Choosetwo.) A.  Extend the bridge domain out of the ACI fabric.B.

Extend VTEP out the ACI fabric.C. Configure fabric access policies on the ACI fabric to match the port settings at the remote end.
D. Extend the EPG out of the ACI fabric. Answer: AD NEW QUESTION 8Which three editing options UCS Director workflow
arevalid? (Choosethree.)) A. Rename aworkflow.B. Edit tasks in the workflow.C. Change an input from mandatory to
optional.D. Reorder inputs.E. Delete inputs. Answer: ABD NEW QUESTION 9Which two characteristics of an 10T network are
true? (Choosetwo.) A. 10T networks must be designed for low-powered devices.B. Thetransmission rate in an 10T network is
consistent.C. 10T networks are 100% reliable.D. 10T networks use SIS for routing.E. 10T networks are bandwidth
constrained. Answer: AE NEW QUESTION 10Which two statistic classes can be used to define a threshold policy for a compute
resource? (Choosetwo.) A. Memory failuresB. Ethernet port CRC statsC.  Processor lock upsD.  Ethernet port statsE.
Processor runtime Answer: DE NEW QUESTION 11Which three pre-built templatesin cloud center are available in core profiles?
(Choosethree)) A. Hadoop jar RunnerB. JavaWebC. ParalelD. ClusterE. PHP Web AppF. Batch Answer: CDF NEW
QUESTION 12Where are the logs that identify issues found in the APIC graphical user interface? A. under System -> FaultsB.
under Admin -> External Data Collectors-> SyslogC. under Tenant -> FaultsD. under Operations -> Visibility &
Troubleshooting Answer: A NEW QUESTION 13Drag and DropDrag and drop the network programmability term on the | eft to the
correct description on the right.
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Answer:A-1B-3C-2 NEW QUESTION 15Which state is the optimal health state for an APIC cluster? A. InserviceB. Fully
syncedC. InsyncD. Fully fit Answer: D NEW QUESTION 16Which three advantages of connecting on-premises private
cloud-to-cloud VPN versus adirect connection are true? (Choose three.) A.  Timeto provisionB. QoSC. FlexibilityD.
LatencyE. CostF. Throughput Answer: ACE NEW QUESTION 17Which statement about network portsin a UCS fabric
interconnect istrue? A.  Network ports do not trunk any VLANS unless they are overridden in apin group.B. Network ports do
not trunk any VLANS unless they are overridden in VLAN Manager.C. Network ports have BPDU Guard enabled.D.  Network
portstrunk all VLANs unless they are overriddenin VLAN Manager.E. Network ports are placed into a port channel
automatically. Answer: D NEW QUESTION 18...... Download the newest Passleader 400-151 dumps from passleader.com now!
100% Pass Guarantee! 400-151 PDF dumps & 400-151 VCE dumps: https.//www.passleader.com/400-151.html (144 Q& As~2019
Version) (New Questions Are 100% Available and Wrong Answers Have Been Corrected! Free VCE simulator!) P.S. New CCIE
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